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Note :

COMMERCE
PAPER - I1I

This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

GNP at market prices — Indirect taxes + subsidies is referred to as :
(1) GNP at factor cost (2) GDP at factor cost {
(3) NNP at factor cost (4) NDP at factor cost

2. EDI system got legal recognition under which one of the following 'lﬁActs ?
(1) Electronics Act, 1996 Iiyght to Data Act, 1998
(3) DGFT Act, 1999 ‘fnformatloﬂ Technology Act, 2000
/ J
3.  Following statements are related to futures contrac\s Choose the statements that are not
true : N
(a) Purchase of a futures contract is called short pogition.
(b)  Currency futures are trade&og&n exchange in stlandardised form and in fixed quantity.
(c)  Default risk in futures gglﬁrac;t is high compared to forward contract.
Codes :
(1) only (a) and (b.;i' (2)# ‘only (a) and (c) (3) (a), (b) and (c) (4) only (b)
L
4.  From the follpvg;ing, identify the trading blocks in the world and choose the correct code :
. (a) European Union
( (b) North Ame ican Free Trade Agreements
(¢) -South Asian Association of Regional Co-operation
(d)" Central Allinerican Common Market
(e), Central African Customs Union
Cokdés :
(1) (5), (b) and (©) () (a), (b), (©) and (d)
€) d) and (e) (4)  (a) (b) and (e)
||\|H||\ : -
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5. Match the items of List - I with items of List - II and choose the correct code :

List - I List - II
(a) Carroll Model (i) International trade
(b) Corlett - Hague Rule (ii) Interest rate

() Hecksher Ohlin Theorem  (iii) Principles of taxation
(d) Knut Wick sell’s Theory (iv) Social responsibility of business

Codes : ;
@ () () (@ f 'f,
(1) (@{dv) (i) (1) (ii) .
2 @) @) @ v
@) @) @) @) (v) 4 { ";
4) @) i) @ @) £\ 7
f .
£ 1 |

6. Labour Rate of Pay Variance can be calculated by hichJI one of the following equations ?
(1) Budgeted Labour Costs — Actual Labour Cos:s‘
(2) (Standard Hours — Actual Hours) X Actual Wage_Rate £

(3) (Standard Wage Rate — Actual b\]‘age Rate) x Ac{ual Hours Worked

(4) (Standard Wage Rate—?é?h | Wage Rate) X Standard Hours Worked

7.  Given:
Margin of Safety { “ X 80,000
Profit { % 20,000
Sales 4 y < 3,00,000

&
What is the amopf-nt pf Fixed Cost ?

(1) ¥1,00000 | () T 75000 (3) 55,000 (4) ¥ 20,000

8.  Preparation of c.Pnsolidated statement of accounts as per AS - 21 is :
(1)! Optional
(2) W Mandatory for Private Ltd. Companies
(3) - Mandatory for Listed Companies

(4) Mandatory for all Companies

voors [IFHHITHIATRANII :
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9.  Which one of the following is not true of cash Budget ?
(1) The shortage or excess of cash would appear in a particular period.
(2) All inflows would arise before outflows for those periods.
(3)  Only revenue nature cash flows are shown.
(4) Proceeds from issue of share capital is shown as an inflow.
{

10. Study the following transactions : ; f; ‘
(a) Raising of short term loans f r
(b) Goods purchased for cash
(c) Payment of bonus in the form of shares “a. * r
(d) Issue of shares in lieu of raw materials oy \ {

Flow of funds is : ,// < |
(1) (), (b), (c), and (d) f \ |}
(2) (b, (@) and (d) : \
() (9 and (d) /
(4) Only (d) U {
. J:

11. When a consumer increases unit§ of X - commodity by giving up some units of Y- commodity
and even to attain the samélevel of satisfaction, the marginal rate of substitution, will be
calculated by :

(1) Changein X - éommodity divided by change in Y - Commodity
(2) Change in X - Com{Odity divided by marginal utility of Y - Commodity
(3) Change i%IY - Commodity divided by change in X - Commodity
~(4) Change in ,}? - (Eommodity divided by marginal utility of X - Commodity
12. The following is the demand function in the small market :
Q=50-5P |
Where ‘Q" denotes quantity in physical units and ‘P" denotes price of the commodity. At
price T 5, the point price elasticity of demand would be :
(1) " Zero (2) Equal to unity
(3) Highly elastic (4) Highly inelastic
voors AN ; —
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13.

14.

15.

Match the items of List - I with the items of List - II and find out the correct matching.

List - I List - II
Production functions Name of the shapes of returns to scale
(a) Q=10.2 K019 1088 (i) Constant Returns to scale
(b) Q=1.01 LO7 K0-25 (i) Diminishing Returns to scale
() Q=0.84 1063 K03 (iii) Increasing Returns to scale g
Codes : II- /
(@ (b) (o) f .
1 @ @) i)
@ @ 0 G 3
G @) @ @ =S Y
@ 0 i) a) f,f‘ |
|
J . |

[ |
In the short-run, when a simple monopoly firm attTns lequilibrium and earns only normal
profit, its level of output will correspond to:

r
J

(1) Lowest average cost s i

2 ‘.“

Average cost above optimum I%Vel of output

4 4

(2)
(3) Average cost equals maigi%ah_cost
(4) Marginal cost much below average cost

i,

Which one of the follpwin“ is a false statement ?

(1) Ramsey pricing rates to the methodology of pricing to situations where firms are
regulated and the maximization of allocative efficiency is the objective of pricing
together With the objective of profit - maximization.

" (2) DPeak-load "Ticing is a pricing practice where price varies with time of the day.

(3)  Value-pricing is the practice of pricing where the price is set based on its value to
the customer.

(4)" Two - part tariff refers to a price structure which has two parts - a lump sum
charge and a variable charge.

16. All thegproperties of order, interval and zero origin are simultaneously possessed by :
(1) Nominal Data (2) Interval Data (3) Ratio Data (4) Ordinal Data
vosns | IANRCA AN : papecan
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17.

18.

19.

Under which of the following situations, chi - square test is applicable ?

(a) testing homogenity

(b) testing goodness of fit

(c) testing equality of two sample means

(d) testing equality of two sample proportions

(e) testing independence of attributes .f
Codes : p
(1) Only (a), (b) and (c) (2) Only (a), (b) and (e) { §
(3)  Only (c), (d) and (e) (4) Only (a), (c) and (e) '

L

r

Which one of the following is not the correct statement regarding sampling distribution of
mean ? "

-
(1) Sampling distribution of mean is normal}y’;listributled for large sized samples.

(2) Sampling distribution of mean is norrrl{ally distrib}llted for small sized samples
drawn from not normally distributed ‘populatfn.

(3) “t’ distribution is not normally distributed.

(4) Mean of the sampling distribution of mean is e(}pal to the parametric value of mean.
!

Consider the following statenier?s and identify the wrong statements :

Statement - I Accepting null hypothesis, when it is false, is called a level of
significance.
Statement - IT !i' 11— is called power of a test.
Statement - Il :  Crifical value of Z - static for two - tailed test at 5% level of significance
! is 1.96.
Codes : 4
(1) Statements | A II'-,fand 111

(2) Statements k and III

(3) _ Statements II and III

4) Statements I and II

II'.

20. The }i)rocess of thoroughly checking the collected data to ensure optimal quality level is referred

toas:

(1) Validation (2) Editing (38) Classification (4) Entry
||| 10 papeca
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21.

22.

23.

M)
/@ x
@ O @ [\
@) (

Statement - (I) : Management is the art of knowing what you want to do and then
seeing that it is done in the best and the cheapest way.

Statement - (II) :Management is the process of planning and regulating the activities
of an enterprise.

(1) Statement (I) is correct, but (II) is incorrect

(2) Statement (II) is correct, but (I) is incorrect

(3) Both the statements (I) and (II) are incorrect

(4) Both the statements (I) and (II) are correct &

Assertion - (A) : No business runs itself, even on momentum . . . . . every gus'iness
needs repeated stimulus. [ f

Reasoning - (R) : The management is the dynamic, life giving eleniént in every business,

without its leadership, the resources of production remain as resources
and never become production. {
(1) Assertion (A) and Reasoning (R), both are correct, and (R) is fthe correct explanation

of (A). -
(2) Assertion (A) and Reasoning (R), both ziz‘e correct, but (R) is not the correct explanation
of (A). - I

[}

(3) Assertion (A) is correct, but Reasonmg (R) 1stncorrect

(4) Reasoning (R) is correct, but Assertion (A) is in€orrect. ,
Match the items of List - I with List %I : f
List - I ‘\ | § List - II
(@) Credit Mobilier V2 (i)  Charles Babbage
(b) Charleton Twist Company (i) Henry Fayol
(c) Difference Engine (iii) Claud Henri Saint Simon
(d) Commentry Fc;:,lr Chambault (iv) Robert Owen

Codes : ' {
@ (b 1 (d
(iii) (iv)'d,II i (@)
@) @) v (i)
@ 0 (v

i)

Find out the correct combination of statements with regards to business ethics :

24.
(a) Business ethics is the behaviour that a business adheres to in its daily dealings.
(b)'k . The ethics of a particular business can be diverse.
(c) = Busmess ethics has normative and descriptive dimensions.
(1) Only (a) and <b> (2) Only (a) and ()
(3) Only (b) and (c (4) All (a), (b) and (c)
yoors | VRCA IHI\ 2 Faper-
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25.  Which one of the following is not correct about business ethics ?

(1) Business ethics reflects the philosophy of business.

(2) Business ethics is a form of applied ethics.

(3) Business ethics are governed by the Government Policies.

(4) Ethics are the standards which govern decisions on daily basis.

f
/

26. A marketing network consists of : { "

(1) The tasks to devise marketing activities. . f

(2) The tasks of hiring, training and motivating employees. = : .

(3)  The activities that help in designing and implementing tﬁe me.lfketing programmes.

(4) The company and its supporting stakehold{’ rs with whom it has built mutually profitable

business relationships. I,r . |'
.-r. /

27. Target marketing involves which of the following actilffties ? 4

(a) Market positioning 4 f 448

(b) Market targeting - f:

(c) Market behaviour h -

(d) Market segmentation

Code { -

(1) (a) and (b) {

(@) (o) and (d

{(3) (a), (b)and fd) .
(4) (b), (c) and/(d)
|

28. e pricing strategy which adjusts the basic price to accommodate differences in customers,

pr czlucts and locations is called :

(1) Differentiated pricing (2) Promotional pricing

(3)  Geographical pricing (4) Price discounts and allowances
||| 1 Fapeca
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25, frefafed § 9 ®F @1 =edm Afawa & gy § 98 T8 § 2
(1) g™ ATkl FTE™ 9 FI IRafad Ht 8|
(2)
(3) HIHM Afdehdr TN FfaEl g wnfed Bt g |
) fdeRdl o W § S < STHR X il 1 wnted e €

I Afdehdl AR Afdehdl &1 Tk &9 g |

4

26. UH fauum Jeas # wimfad € 'f:‘
(1) fauoe fwaneti & a9 &1 wE
(2) wHHEIRE H A, TR FE SR AVIRG T B FE
(3) foravm FRiFHH F T T AT F | T hA { .’;
)

FHE] SR ST Fereh fedune forer 9y ?ﬁwﬁ AT ST TrI-2 ohi TATIA]
FH I

4

27. Tr=fafEa 5 9 f6 fwaneti =1 afea fagom o HTLHTMLAT Tl 8 2

(a) ISR STereefifeny 44 ( -
(b) TSR T & S < ,-;
(c) TSN FERR ._\t {
(d) ST faufershao
R { ’{
(1) (a) 7 ()
@) (b)aen (dff
6 @0 asn’?a)
4) (b), (0 aml d)
I

28. ﬁfﬂﬁﬂﬁm@ﬁﬁﬁu@ﬁ,m@wﬁﬁﬁﬂaﬁmﬁmw%ﬁﬂw HIAd H HHTEISH
LA, 39 Hed € :

(1) faifea e frefor (2) UicERAHS Himd g
(3) ihmiferes hiva e (4) A 92T SR T
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29.

30.

31.

Horizontal marketing system comprises of :

(1) the producer, wholesaler and retailer acting in a unified system.
2) multichannel marketing.
4

()
(3) two or more marketing channels to reach one or more customer segments.
(4)

two or more unrelated companies put together resources to exploit an emerging market.

Match the items of List - I with the items of List - II : 4
List - I List - 11 .r J -
(a) Face-to-face interaction with (i) Sales promotion
one or more prospective purchasers - . .
(b) Any paid form of nonpersonal (ii) Public relations .’;
promotion jf" -’ |

(c) Short-term incentives to encourage I.r"lziii) IPersolhal selling
purchase

(d) Programmes to promote company’s = (iv) lﬁertising

image %
Codes :

@ ® © @y :
M @) @ @ 0 -
@ i) @) 6 @
@ @ o @i,
@ @ @lo @

4

/ Which of the fol‘l‘?wipg techniques for appraisal of investment proposals are based on time

value of money ?

(@) +Accounting Rate of Return
(b)" Internal Ra.]ite of Return
(Ch Profitability Index Method
(d) ¥ Earnings Per Share

Codes':
(1) (a) and (b) (2) (b) and (c) (3) (a) and (d) (4) (a), (b) and (d)
voors AN y papera
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29. ovad fagoq ¥ wfmfed @ :

(1) e, Ok fashdm 3iR QU AR S Thidhd oaawen § &1 %3 ¢ |
(2) wg-HEAH foquE |
(3) T Y Th ¥ AT Uew-WUe a% I e 1 § Aferek foqum et gR 9gT oA |
(4) aawa@a{ama«wwdqnwmqlgr{r@mngﬁwﬁlwﬁ%fﬁqm
T I T W1 A € | u:
30. et -1 TGl &I et - [ 1 781 9 gAfaq St : { rr
el -1 et - 11
(a) Teh e T 9 Afeer e sharaneti & (i) mﬁ%{%ﬁﬁ
Y F-TE HaE ¢ ,: W
(b) STEAfFIH HaeA &1 HE ot ey J;/ﬂ (i) W
e / |
(c) %A I IgH % AT ATTRITAH T (\1'?/ ERIESEEER
(d) o w B9 I FHEE & faCSE@En (i‘{)—f;ﬁrm
he - ;: I
@ ®» © @ 4
1) @) @) G @
(2) @) (v) (@) “. (i)
®) (@) () . @) " Q)]
4 G @)@ @)
‘4
31./ Trer el % qegisq % fou Freafefed & & SA-o doie 921 % oo T e €2
(a) @A & W
(b) .. TR T R
(c) T YTF 1J%1fa
(d)' g T TR 3t
FT :
(1)  (a) 3 (b) (2) (b) ¥ (0) (3) (a) ¥R (d) 4) (a) (b) 3R ()
rosss [ AN 17
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32.  On the basis of the following information, what will be the EBIT corresponding to financial
indifference point ?

Total capital outlay I 60,00,000

Financing Plans

(a) 100% Equity @ X 10/- per share

(b) Debt - equity ratio 2 : 1

Rate of interest 18% p.a., corporate tax rate 40% ¢

(1) < 10,00,000 (2) % 12,00,000 (3) < 10,80,000 4) % 12,80,066 '
f r

33. Which one of the following assumptions is not included in the James E. Walter Valuation

model ? ll
(1) All financing by retained earnings only 0 , (
(2) No change in the key variables such as Ftl‘g and IjFPIS

(3)  The firm has finite life r."r | JI'

(4)

All earnings are either distributed as dividend% ;?invested internally immediately

34. Match the items of List - I with the i'er{ls of List - II fna find out the correct matching.

List - I - 1;.’ List - II
(Formulae) Vi (Type of leverages)
Contribution [ Ei 11
(@) ~ EpIT - . (i) inancial leverage
EBIT | )
(b) Earnings, before Tax (EBT) (i) ~Super - leverage
T o
r Contributi \ i O tine 1
& (o) ﬁ ! (iii) Operating leverage

Codes : .
S (@ (®) ()

(1)l (i) @) @)
@ V@ G ()
(3) @) ) @
@) @) @ (i)
rasss [ ITINIIIANND 18
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32. frHAfafEd o o SR W fa<iia qew fag & &9 ot T 3 = g ?
Fa Jeimd afemd T 60,00,000
[ESRISE
(a) ¥ 10 9fd 3191 =l < 9 100 Fferd Fear
(b) R - FHAT AUE 2 : 1
=TSl ot <18 fderd gfa =, fm & 9X 40 yfawra
(1) ¥10,00000  (2) %12,00,000  (3) %10,80,000  (4) 4% 12,80,000,
[
33. fr=fafed § 9 ®F-4 A= S 3. dieet Jedis Qﬁﬁﬁﬁ‘qﬁﬂﬁﬂﬂﬁ%7 ’
(1) aa yfaenia sl gr |yl fod-saaeen 1
(2) éﬁwaﬁwéﬁwé@g@wﬁaﬁ?ﬁﬁﬁéwﬁaﬁﬂﬁ - |
(3) wH =i ffyea frae ® f{
(4) H?ﬁaﬁaﬁmﬁwm@%wﬁﬁﬁﬁam Tl'éil'r'?;ir ST IThT QLA STaien fafTerer &Y
[ERIRIRIES
34. vjﬁ-laﬁuﬁﬁvjﬁ-nﬁﬂa%wg&%ﬁaﬂﬁmqﬁiﬂﬁgﬁmﬁﬁiﬁaaﬁm:
T - 1 </ Tl - 11
() __‘ i ( STITH HT YR
ST :
@ ey { 3 () fo<fta sde®
RIS
(b) g 9 & ) (i) o1fy 3dieTh
() ;:il f (iti) T IR
qc: .|
(@) (b) [ (o)
O\, @) ' 0
@) =@ @) (i)
(3) (i) (ii) (i)
(4) (i) (iii)
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35. Statement - I: Working capital leverage measures the responsiveness of Return on Equity
for changes in current Assets.

Statement - II : When the annual demand for an item is 3200 units, unit cost ¥ 6, inventory
carrying charges 25% p.a. and cost of one procurement I 150, the economic
ordering quantity would be 700 units.

Codes :

(1) Both statements are correct .

(2) Both statements are incorrect II /

(3) Statement - I is correct and Statement - II is incorrect f ( "

(4) Statement - I is incorrect and Statement - II is correct

36. Match the items of List - I with the items of List - IL: { Hﬁ'
List - I I,ﬁi m
Conventional HRM Strat.églc HRM ]

(a) Staff specialists (i) Fast and prlactlile

(b) Slow and reactive (i) People and owledgg

(c) Capital and products (it 1{ Line manageli-s et

(d) Cost centre (1j) Investment centre

Codes } "

@@ (b) (o) (d)

M @ 0 G )

@ @) G 6 )

G i) @ 6 @

CRNURRURS )

37. Which one of theffollowing is a traditional method for selection of personnel ?
(1) = Interview | (2) Selection Test (3) Phrenology (4) Aptitude Test
II'.
38. The ‘method of training in crafts, trades and technical areas is known as :
(1) Vestibule training (2) Coaching
(3) Mentoring (4) Apprenticeship
voars [IFHHITHATRRNII 2 papern

www.examrace.com



35. HmAA-1: FHEMA Yol Sk =] Ut o qfedHl & fou Iudr W o & gfdfewan <3 i
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HYUT - 11 : Vd T 9% & forg anfifer AT 3200 THE €, THE AN T 6, Thel T T TIR 25 Ffavm
Hfa o & T T MW 1 AT % 150 B, 1 el TR T WA 700 IHIEAT & |

%<

(1) SH weT T T

(2) T YT e e

(3) HUT-1TE T IR HYUA - 11 7T ¢ | f .

(4) YT -17TEd T SR R - [1 9 T |
36. ot - 1% A e 1 g A e &

Tt - 1 }fe‘ﬁ - .'
TR T 3 T =E fa?m TH ST T
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(b) T & watwaTe (i) @mwE

() et TE vae (i) e e [
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e : = 4

(@ () (o) (@)

1) @) @) ()¢ vy

2 ) G H )

@) @ @, 0 W)

y @ @) (@) ) (iv)

37. frAfafed 5 9 qﬁll.*-lcehl‘rﬁv' =7 1 qREaf fafy €

(1) = HIEThR .I (2) = e 3) wUE famm (4)  arfela wem
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39. Behaviourally Anchored Rating Scale is a technique used for :
(1) Selection (2) Succession Planning
(3) Performance appraisal (4) Recruitment
40. Which one of the following is not a mechanism of managing stress ? ]
(1) Rust out (2) Cognitive therapy \
(3) Job enrichment (4) Networking / .r/_, .
| {
41. Interest earned by a depositor against a deposit with a commercial bank for custodial
service : ! L (
(1) is a fund based income / \ . |
(2) is a fee based income r_f \ II.’I
(3) is a combination of fund and fee baseci gain ‘ J/;
(4) is a commitment based gain == V.,
A f
42. Match the items in List - I witp?ﬁed._items in List - IT':
List - I - List - II
(a) ATM card . (i) NPA
(b) Debts due for niore than 30 days (ii) John Shephard Barron
() Micro f}na{nce (iii) State Finance Corporations Act
(d) State level finance corporations (iv) NABARD
Codes : f ]
@ k) [© @
a o @l w
@) SO () )
@) @) @) @ 6
@ @ O @)
voors AN 2 Faper
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39.

40.

41.

42.
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43. Assertion (A) : A well developed money market is the basis for an effective monetary policy.

It is in the money market that the Central Bank comes into contact with the
financial sectors of the economy as a whole and it is through the liquidity in
the market that influence the cost and availability of credit.

Reasoning (R) : A well organised money market is an essential condition for the successful

operation of the Central Banking policies, and for holding the conditions of
liquidity within the bounds of what the monetary authoritiesiconsider

desirable. :

f
(A) is true but (R) is false r;
(R) is true but (A) is false { r

(A) is true and (R) offers correct explanation to (A)
Both (A) and (R) are false > ) F
. N |i

-

44. The operations of banks and financial institut'y{; are regulated by :

1
2
3

(
(
(
4

)
)
)
)

/ , '
The RBI Act 1934 only / J
The Banking Regulation Act 1949 only \ (f
Information Technology Act 2000 only — £
All of the above L r
</
| Y

45. To operationalise online, intéfnet, mobile banking, debit card and credit card tools, some of
the essential ingredients are :

Compliance with thé Information Technology Act 2000
Satellite connection

Selection @f a portal and server

All of the a‘?ove

46. Any country consistently facing balance of payment deficiency can approach :

The World! Bank

)
(2)Ik 4 The Smithsonian Institute
(3) IMF
(4) The IMF and the IBRD
a1 2 Faper
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43.

44.

45.

46.

e

AMURYT (A) :  TF Gfawfad qg1 ISR, THIET Hifgeh AiTd 1 STHR €| &1 9o H & TH 8l §
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1
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EEERESE] ¥ {

- 4_'{ '
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47.

48.

49.

50.

51.

Counter-trade means :

(I) A sort of bilateral trade where one set of goods is exchanged for another set of goods
and a seller provides a buyer with deliveries.

(2) A company takes full responsibility for making its goods available in the target market
by selling directly to the end-users.

(3)  The companies in two separate sovereigns agree to exchange one set of goods for another
set of goods.

(4) A set of multilateral trade where one of goods and services may be ethénged for
another set of goods and services among the trading partners. ( /

lp' r

The floating rate system is characterised by :

(1) the market forces that determine the exchange rate between two currencies.

2

(2) the central banking authorities of the two countries mutually agree upén the rate.
¥

(3)  help realigning the par value of major currencies:: \ {

(4)

4)  the rate of exchange mutually agreed up})ﬂ’ betweén IMF and its member nations.

f i

/ , '
A practice of selling a commodity in a foreign market _élt a price lower than the domestic
price; and even at equal to the cost of production tolcapture foreign market is known as :
(1) Gouging (2) Forging 3 D mping 4 (4) Forfeiting

The highest percentage of export fI‘Ofl’l India went to £Vh1ch of the following regions in
2013-14 ? Py

(1) OECD countries __“ (2) USA
(3) SAARC (4) Latin America

i,

-

Match the items of List - I{With the items of List - II and select a correct code :

List-1 | List - II
a ‘ i xchange for small companies
SEBI 4 i Exchange f 11 pani
r 11 econdary market in treasury bills
~(b) RBI (i) S dary ket i y bill
(c) STCI f (iii) Regulation of secondary market
(d) OTCEI (iv) Ad-hoc treasury bills

@, (v @) 6@ 6
@Y @) @ 6
G @ O @ @
@) () (@) @) (@)
|||

N
=)}
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52.

53.

54.

55.

56.

X Ltd. goes into liquidation and a new company Z Ltd. purchases the business of X Ltd. It is
a case of :

(1) Amalgamation (2) Absorption

(3) Internal reconstruction (4) External reconstruction

When the cost incurred on recruiting, training and developing the employees is Con81dered

for determining the value of employees, it is called : F

(1) The replacement cost approach (2) The historical cost approach r;
(3) The opportunity cost approach (4) None of the above f .
In India, NIFTY and SENSEX are calculated on the basis of : .

(1) Market capitalisation (2) Paid up capital {

(3) Free-float market capitalisation  (4) éy.thorize‘d share capital

.-'
Financial Instruments which are issued w1th detachable warrants and are redeemable after
certain period is known as : '

(1) Deep Discount Bonds (2) Securedﬂgremiurln Notes
(3) Bunny Bonds (4) Junk Bonds™
A ¥

A

Which of the following can behuied‘“-.by a company as communication mix to reach the target
customers ?

(a) Advertising

(b) Sales promotio!r; -

(c) Events and experiendes

(d) Public relations

(e)  Direct I‘ng'rketing

" (f)  Personal S;fmg'

Codes :

(1) _ (@), (b), (d) and (f) (2) (@) (b), (e) and (f)

(3{ (@), (b), (d), (e) and () 4) (@), (b), (c), (d), (e) and (f)

\

57. In a‘c'idition to motivation, learning and memory, which one of the following is included in

the main psychological processes affecting consumer behaviour ?

(1) Perception (2) Life cycle (3) Lifestyle (4) Social class
||| 2 papeca
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52. g fafbfeg Frot &1 fases Bar § iR e fa. & =@/ &l T 72 e o T odt 81 98
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(3) HF-afad TSR Yo (4) Q/T@%a;ﬂ;ﬁ E
55. facia fafaq, i &1 Friad gos & 4 af#qa%awaﬁpmw%msﬁwﬁr&ﬂﬁ sty
T Ve #, F o S |
(1) < fewpe aig 2) ﬁqazﬂrsm%ﬁqw =ﬁ?€
(3) S e " <o atgl
56. ﬁmﬁf@ﬁﬁﬁwmﬁa{aﬁﬂﬁﬁiwu@ﬁ%mmwmwmﬂmﬁ%7
IEEIRE|
(b ; fosra Gagd <
© wwETE
(d) S T h |
() = Weaar forr
G EIEED %@F
e :
1) _ (@), (), () W (H @ (@), ®) () (@
(3{ (a), (b), (d), (€) ¥ (9 4) @), (®), (), (@), (e) IR ()
57. BTF;'Q';{'UT, T v T wifed & Afafem frafafaa 3 9 forge T Sy sasr ot gu9ifaq
T dTe YA TSR wisman & wthe faan s €2
1) 9 (2) Sied-=s (3) e et (4) @ISR A
rosss [ AN 2 Papecn
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58.

59.

60.

61.

62./

voars [IFHHITHATRRNII

Match the items of List - I with the items of List - II :

List - I List - II

(a) Geographic Segmentation (i) Gender, income, religion
(b) Demographic Segmentation (i) Knowledge, attitude, response
(c) Psychographic Segmentation (iii) Regions, cities, neighbourhoods
(d) Behavioural Segmentation (iv) Lifestyle, personality traits, values
Codes : i

@ ® © @ P
(1 @) (@v) G (@) / p
(2) @) (v) @) ()
G) Gv) @) @ () _ v
@4 Gv) @ G () r

g ¥ L |i
-
Which one of the following is not a stage in tl}é";roduct life cycle ?
(1) Introduction (2) Growth 1(3) Equiljlbrium 4)

| [}
[ ¥

Decline

Which one of the following is correct statement in rlsﬁéct of co-branding ?
(1) Co-branding is an umbrella branding of goods of a company.

(2) In co-branding, two or more well-known existﬁng brands are combined into a joint
product. < | § ;
(8)  Co-branding is the process of combining two brands for promoting brand equity.

(4) All of the above -

i,

Which one of the following is not a major punishment ?

(1) Withholding of incretments (2) Demotion

(3) Transfer, (4) Suspension
|

a
Assertion (A) : Job ‘evaluation is essentially a job rating process, not unlike the rating of
mployees.

Reasoning (R): Job evaluation is a practice which seeks to provide a degree of objectivity in
: measuring the comparative value of jobs within an organisation and among
' similar organisations.

1), Both Assertion (A) and Reasoning (R) are correct
2
3

4) Reasoning (R) is correct, but Assertion (A) is incorrect

) ':" Both Assertion (A) and Reasoning (R) are incorrect
)

Assertion (A) is correct, but Reasoning (R) is incorrect

(
(
(
(

W
o
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58.

59.

60.

61.

62.

T - [ T AT I it - 11T Al § Gafad i

T - 1 et - 11
frifersr fawfaaro () &, o, o
EREIEIRREEIESEau| (i) M, SAfvgfa, gfdfsman
TE fafaeRo (i) &, YT, TS
EICRITCIRERIERERL (iv) Sired e, fFa & T, T

N N N N
- RCECRCHE

@ () (© (@ { 1
() (v) (i) () [ F
@) () (
(v) (i)
@) @) (

~— — — ~—

1
2
3
4

A~ N SN/

-

frfafaa § 9 Scre \ﬂﬂlqﬂ—wﬁlﬂ@?wqﬁ?ff |
(1) ui== (2) fomwmm /) FUf (4) o

frfafea 7 9 - m@n%wﬁﬁﬁmmwu@%“/
(1) TB-FifET T HEat & a&geil it sad oifen 2|

2) W%a%ﬁaww%ﬁwwgﬁmmaﬁwwm%wﬁ
gofee fRpam smar 81 | N ¢

() i s da ¥ R TS S B 9 ) weaie we ¥
(4) ST H 9 9t

ﬁwmﬁ@ﬁw%@mﬂﬁ%?
(1) o g Tkl (2) HSmEH

(3)  Termiaeor 4 4) frema

| SRR (A) : ,gmﬁwmg@ma i fafy 8, <t =i & St @ fr 7 3

T (R) : /FT g T FaER ¥, S fF T "ed # qon 3o wue weAl # fafu=
' | Fell % GO e 1 A9 T H Teh ggal e il ¢ |
(1) AR (A) TN ek (R) S & Tal 1
(2)‘ J AfeR e (A) T Tk (R) ST & TTerd § |
(3) " FfiRer (A) W 8, T A (R) o ¥
Teh (R) el ¢, T SAFUeRT (A) Terd T |

oot |H||H|||\H||H||H||||\IH|\||\IIHI“IHIN|\|||\|H||! 1
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63. Identify the correct combinations from the following :

. Training and Development .
Skills Methods Target Trainees
(@) |Knowledge Deliberation/Lecture Managerial
(b)  [Multi-skills Vestibule training Operative . _
(c) |Decision-making skills Management game ManagerialHF
(d) |Behavioural skills Sensitivity training Supervisory .;"‘ .
Ip' [
Codes : : \ )
L J‘ .-;
(1) (a), (b) and () (2) (?)x(c) and (d)
/ |
() (), (0) and (d) 4 [ (@), <b§ancy' (@
A (
64. Which among the following are-qotfiaart of staffing process ?
. )
Vi
(@) Human Resource Plar{r_ﬁng (b) Recruitment
(c) Selection { ( (d) Induction and Orientation
(e) = Training éand Development (f) Performance Appraisal
F i
(g) Transfers f r (h) Separations
Codes : |
\
(1) ¥ (e), (), (g) and (h) (2) (g) and (h)
r
(3) (f) and (h) (4) None of the above
voors AN 2
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63. THAfafEd T =l ¥ ¥ W& =9 1 T8a™ T :

HIoTA gidreror 3 faerra fafyr wAfera wivTemert

(a) ElS| ST/ HTH0T EERETR]

(b) ERRCIN] afeera gftne EEIKRICE

() ol &9 &1 SR EERCERIE| T y

(d) TR HRTA Herdt gfreT _ T { J-

B
%< : .
. (
(1) (), (b) 3R (0) 2) ,S?’J (0) 3 (d)
J i ]
(3)  (b), () R (d) @ [ (@ <b)‘3;<-’<d>
4 ' Al
64. et A % F Tt v o 2
Y4

(a) HHE GHEA frsH " (b) o
(c) =& ‘: ( (d)  SATTHA qT SATEATI
(e) ¥ T (f) oI qeish
(g) T f . (h) g fohan ST
T:Ed": |

II'.
1) ¥ (e), (), (g) T (h) 2) (8 W (h)
(3) () T (h) (4) SR T F FE T

e .
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65.

66.

67.

Match the items of List - I with List - II :

List -1 List - IT
(a) INTUC i) 1920
(b) AITUC (i) 1947
(c) CITU (i) 1955
(d) BMS (iv) 1970
Codes {
@ ®) (© (@ { s
M O G i) (v) ( [
@ @) G (v (i) ;
@) @) @ () (v) 1. !
4) @) @) (Gv) () p .

’ N
f i
Assertion (A) : Amended Patent Act, in compliance with WTO, provides for grant of

product patent as well as a/process atg’nt for a period of 20 years from the
date of application. ‘P

Reasoning (R) : Under the Act, patent may be gran’cégJ to an invention which means a new
product or process mvolvmg an i efﬁtrve ‘step and capable of industrial
application, a technical advance ov existing knowledge.

Codes : | ;:

(1) Both (A) and (R) are truE i)ut (R), is not correct explanation to (A).
) (A) is false but (R) is correct.

(3) Both (A) and (i}) are true and (R), is correct explanation to (A).

) (A) is correct but (R)lis false.

Which of the fallowing have been recognised under the intellectual property eligible for

/ creation of rightsias per WTO mandate ?

(a) Computer £ftvx;are, music disc, performing art
(b) Geographical indicator
(c)” Global positioning system

(d) Journals, books, seeds, design, brand
5

Codes :
(1) @, (b) and () (2)  (d), (¢) and (a)
(3) (a), (b) and (d) (4) (), (a) and (b)
voss [ NANNRII ’
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65. Gt - [ S awqatl ! geit - [1 § oy

(

-

ﬁaﬁ‘m areed i a9 20 99 i

—H1Y T Gishar 9o Wt Yo a2

=0 Afuf & 18 T U8 TR %l 9o dM fRan S 9ol §, <1 T 2

g STE Tsha B S Lar € SR 3 sienfirer swint & wam § iR 78 oA

Tt - 1 T - 11
(a) TS i) 1920
(b) TIRH (i) 1947
(c) W™ (ili) 1955
(d) sTTHTE (iv) 1970
< :
@@ (b) (o) (d)
1 @ @) @D ()
2 G @ (@v) (i)
G) G) @ @) @) B
@ i) 0 v ) A
66. ITRURAT (A) : gﬂﬁaﬁ%agmmﬁﬂﬁfaﬁ
stafy T o foag frdt owg =1 9de
T (R)
FIRECICAC @WW&T%I
%< : LT

(A) R (R) THI T&t €, AR (R) (A) FT Tt =ATEAT &l B |

(A) Tord €, wifRd (R)H& €1

(1)
(2)
(3)  (A) 3R (R) I & £ 3R (R) (A) 1 wE =€ B
(4)

(A)ﬂfr% Af (R) Terd 71

67. gﬂﬁaﬁ%ﬁaﬁﬂ%waﬁmm%a%ﬁwﬁ%wimﬁﬁﬁ@aﬁ@ﬁ@

(a) D{ﬁ%%@ﬁ THE FHell

(b) %ﬂTﬁm L ELED
(c) afvae srafeera yomedt
(d) ufe, g, S, sifuehey, S

Fe !

1) @) b R (© @ () ©

(G) (@) (b) 3R (d) @ © @
rosss [ IINRNANI .
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68.

69.

70.

71.

NAFTA came into force from January, 1994 embracing :
(I) The USA, Canada, Cuba, Trinidad and Tobago
(2) The USA, Canada, Mexico

(3) Cuba, Mexico, USA, Havana

(4) Trinidad, The USA, Mexico

A common market is one where : ¢

4
(1) all the trading nations agree commonly to levy a common and uniform tariff rafe for all
goods. { r

(2) all the trading nations agree commonly to rationalise tariff and non-tariff barriers
mutually to promote intra-region trade. 4

r

(3)  thereisacustoms union along with free intra - union moveinent of factors of production.

(4) there is an economic union along with freersintra-union movement of residents.

i i

|'I |
The Maastricht Treaty of February, 1992 renamed the Eg'ropean Community (EC) as
(1) the European Union (EU) ,/

(2) the European Economic Union (EEU) 4
(3) the European Monetary Union¥(EMU) f
(4) the European Economic anrﬁumty (EEC)

Vi i

In which of the following cases, Assessing officer has the discretion to assess the income of
the previous year in the previous year or in the subsequent assessment year ?

(1)  Shipping businéss of non-residents

|
(2)  Association of Persons (AOP) or Body of Individuals (BOI) formed for a particular
event or purpose

(3) Assessmentof persons likely to transfer property to avoid tax

' -‘l |
4 Discontinu?ti business

72. Rental income réceived by a foreign individual, from another foreign individual, in respect of
the property sitdated in Delhi is taxable in the hands of :
(1), Resident and Ordinarily Resident (OR) only
(2) ‘:" Ordinarily Resident (OR) and Not Ordinarily Resident (NOR) only
(3) Non Resident (NR) only
(4) Ordinarily Resident (OR), Not Ordinarily Resident (NOR) and Non Resident (NR)
||| . papera
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68. AT TH A T (ATRI) A, 1994 § sifeqe | a1, forgd Freafafea <o wfhe €
(1) JTET, FHAEl, T, HTere AR e
(2) I THT, e, Hiegert
(3) o, AfFH], 4 TH T, FEr
4) Tifere, 9 @@ T A

69. T HIU= IR I §, <& {
(1) |t S 39 W T W aEgSl W HH T THEHH Yok A e TErdgen € |
(2) Gft AR TN 37d: &7 TR Hl ggH % faC TRERE T 9 Yo @ M:3eh ATH™ Hi
AR HTd I o wewd B € |
(3) S % WIEMl 1 SRHE H qH Heferd el © UE U SR 6 R " g
(4) el % e sfa-HY Saad F Ty T ot oy g E (

-

70. THEERI, 1992 &t WIS Wiy & R AN HHE™ Géf:%) wmawﬁmﬁf@aﬁﬁwwﬁm
7 ?

(1) = fweE gfem (2 ) : \4'/
) T A s g (33 ) y
(3) = fwe Al g (T A, (
(4) T FAGIA sHAHHR chl-ﬁl)l"li.h"(-siﬁ 1:|°r) ;
| Y

71. Trefafea § 9 forg ama § #x fFaio stiue o1 foaes § T a8 7 o6 &1 313 1 7 o6 | &
awwﬁmmﬁaﬁmaﬁﬁm%mﬁﬁﬁaaﬁ?

1) TR-saTfaEl & HieeT HReER |
2) @ﬁwmm&aﬁﬁ)awﬁmm(ﬁaﬁaﬁ)ﬁwww
forre w2 ereran weieT & forg gem 21
(3) = Wﬁﬁ'ﬁje‘ﬂ X Ay o9 &t X 9=/ & fau o9 wwfa &1 e&aidid & <4 &t
f G 1 f
(4) ¥ FEEE |

72. TH foRY S W o faiwh SR fooet frd T ¥ T g SR ATl ST Sl 9 A 22
(1), Tt SRRt (& R) ww
(2) ¥ wreERe fEr (3 $R) SR SR e (T e AR) W
(3) AMEE (TT $R) A=
reRer fart (37 31R) srEryRe freart (TA 3 3TR) SR Stfardt (TH R)

oot |H||H|||\H||H||H||||\IH|\||\IIHI“IHINIHII\IHII!
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73.  Which of the following income is not chargeable under the head ‘income from business and
profession” ?

(1) Profits and Gains carried on by an assessee during the previous year.

(2) Income derived by a trade professional or similar association from specific services
performed for its members.

(3) Income from the activity of owning or owning and maintaining race horses.

(4) Salary received by a partner of a firm from the same firm. .
£
f
74. Mr. A earned a capital gain of ¥ 100 lakhs on 31-2-2014 from the sale of a long terni ;capital
asset (land) within the limits of Jaipur corporation. If he invests ¥ 60 lakhs, eut of
% 100 lakhs, in Rural Electricity Corporation Bonds approved under Sec. 54 EC in 20-2-2014,

what is the amount of exemption he can claim under Sec. 54 EC of Income Tax Act for the
AY 2014-15 ? - ¢

(1) T 60 lakhs (2) 50 lakhs (3) % 100 lakhs' '}(4) Z 30 lakhs
. -

75. Under which of the following situations, the ;Appellate Tribunal can rectify the mistake in
the order passed by it under Sec 254 (2) of Iglcome Tax AllllCt ?

(a) If subsequent decision of the Supreme Court/Hi h Court is available on the subject
after the Appellate Tribunal’'s order

(b) If an assessee apply for rectification of the Tribunal’s ofder by raising fresh grounds

before the Tribunal 4 f

(c) If the omission or mistake *if' ofi the part of Appellate Tribunal

(d) If the order is passed by’hﬂle A-ppellate Tribunal under an erroneous impression of fact

or law =
Codes :
(1) (@) ©)and @,
() (), ()and (@ " |
() (), (9 and (d)
(4) * only (c) ahd (d)

4 "
F f |
f 1

-000-

voars [IFHHITHATRRNII

W
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73. frefafad § 9 &1 € o 'SR a9 99 § o' & e o ST TR T § 2
(1) FR-Fuift g s | SR @ S T A SR i |

(2) T HREN Fa9rET s1oE UF & fondl Gee g1 A0 §e=i o Uid forwl fafere gansti o fag
T ST |

(3) YI-HIH o HISl o HIfcTsh M ST Ik T 3R @I A i el | T a1t 211 |
(4) THEl wH o 9NGR ! 39 Y 9 fHer amer o |

i
74. THRX A 31-2-2014 1 SR Fr =61 witedten 7 feerd gsft wftwefa (yfi) 1 d=eR 100%T1E 1
efenrel qeft ey Afefd fopam) afe @8 % 100 @@ § W R 60 AN % U fersred s, S
femier 20-2-2014 1 54 § | 1 YW & A Wihd €, TS a1 8, 98 a9 2014-15 % AT 21T
sfyfTom 1 9/ 54 3 W & 1A for Ufr W g2 1 <@ T9 FR T T ? )
(1) %60 ad 2) %50 A (3) X1gowrE ( “(4) I 30mE
'i
75. Wﬁ@WWﬁWﬁWﬁWﬁWﬁWZM()%QWW
Y T T ! GHR R Tkl § 2 / J
) ﬁWﬁw%Wﬁ%wﬁw\W/mwweﬁﬁmmaﬁé

AT O SueTsH B | ‘j
(b) aﬁﬁémﬁﬁﬁﬁmwﬁaﬁwﬁ@%ﬁx%wmﬁaﬁmﬁaﬁwwmﬁ
FHI T |

() aﬁwawegaﬁaﬁﬁug&mﬁﬁ@gé@
(d) s e wiferson g PR 4o sveren fafy 3 e W 3 s s e T A

M) @ 0) TR

@ (O) @@ |

() (@) () ()

@ W(e)*}(d)
A
! -00o0-

\
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